Homework Solutions to HW Set# 2  due 03 / 21 /2003

Page_ | of g . By 1.38.3

On 03/ 63 /20083
QR 2.¢

Améww g;.a(o/» b) AS p/\ys:caﬁy IIW\(OO&SM

a.X.
>(11‘

AC(gyc&'M(j o ﬂrapl‘ é) Hare gye Some

: AnSFonts i Fimns whine He obych s S,ma,l

L famowndy ok oo ciflund x- coordlinate. T

¢ Wpamp»& Joy t= é 1A C#JJ.N/ < ot X, omol a//')(z.
Ths 4s p/\ys 1oy mposs«%.

CCZ 7 The acconboation oJ bofhk oéJew‘s is the Same amd
Cbmfovlamf/’ Ann é’/lrvv(/‘ The grﬂ\vc"l‘/ al(f/’& O ’LLL Ao/—L oé,}(ULJ
/‘)naé/ow(a/wfl)f O(f FHare # V%ct'l‘y.

WEST :
CQI4%: EASE “oear
1 94 3 X
a) V= PO POS

Car oV \\% i Wik to tant oo <t 9’(’13 'JM}'N

xU JA/
> t i > ¢

b) V= o0s. , &= meg.
CQV gw; mev \vmoL b (mL é,u/ A'/L g&A /aloww Qv\a( (,49»«9(,, Fhe oako/.‘pw

[




Homework Solutions to HW Set# 2  due 09 / 21 /2003

Page_ L of 3 By [.8.8.
On 03/03 /2003

fo CO\IQ—:

Car Vo with Conotont v%cc,ly er wint o each

X AV

V='rw#.3_ , @ =pos.
b) AAML Mo W w:#. D&JJWJ— S:'QM_A J"" V%“'l), an ot
A Hha OHM 04*0/'%

Sa/th (ase &S

a—C(l/éu}Gj:@u A0 !'Aa/- 7L/\c /rwovwwl' 30‘0 MO W
[ J / > & / >
V= MH , 0s aeg

Sa«w, s G) é,o»/‘ MmO 7L/\4, Car mrouves J"b'w" oot fo weost-
A X Arv

r\ >t \ > ¢




Homework Solutions to HW Set # Z , due O3, /2003

Page 3 of i By ! 38.%

On 03/03 /20®B
Lo CQIy

J) \/# ey a= 0.
SM‘ ar ¢) owmlt rmow Car aom Jmm cant to weol.
AKX NV

>t

‘ >t

T

ﬂ) v O . a= po.

b 'LV“ élqmww“g Car (S inm reok bt Uw—oaQL the ,ooa:/,uc
oo it b2gins fmmsclaley o moun o ik S

wol fo east
M ot 31}5 Ja/o/'u

x

/

> L > £

k) ve O , A= g

Nowe  an q) bud mow car mover me Lant  fo weot

% AV
: >t




Homework Solutions to HW Set#_ 2 , due O3 /®21/ 2003

Page ft of | By —f_'j—‘ﬁ ===
On 03/02 /20053
P&
@) Car I : V=S50

Mman
Cor L+ = 70 o
X= 10l , t  fo be oAt o proime ol

Ve 7 & vitex & t= %

f:_z Joy Ca. 1 f = X'-.: IOM'.‘- = QIR L

i

X .
lor @ T Cp= yo- JPme - 01205

Ad- tp-tg = Q0389 h = 2.3
=>‘C0«I’I arrvuy Af: 23%% ALJOK, cor L.

l’) Af= 1S pim ;X har 4o bt olete miindd.
o X, - V¢ X-VrXx

&z’:'—' ’-Lz'fr.‘" VA =
Vr Ve Vg

= Af (Vr\/r) = X (V.II” V.r)

(V- Vi)
.2
(70&5'5) ”:z_
x = 0.25kh (Fo-55) ==

[s,;w He Mo of T oherss o Loin vilidiom ild, He hime oo com g
the sawi, roudd by animg He rpslh o a) : Omi. x (22 ) 2 B )

E> X= at

= G4 17 s

2-340«-'0\



Homework Solutions to HW Set# 2 due ©3 /2| /2003

Page S of 3
nn@ﬂfo e@: |

P I3 V=250 &= (7izaveege spe)
X = 600 s
E3 = =
; < |Eo T
1. 600 A...
£= gL = 3as <3600 4= 230k

_‘T:.OA’ a(j.clcw}wg o Q.UL/Q_Q.b /.)fuoé o:f ZST«:&M fAL Con Aa/a o

ke the track i 230¢
For Fhe J/u,‘,s}’ 800, . the can go<s J.m,L with ve=

800
= {r= Gaoige = 1252

= The car hors ook L= £-tp = (23.04 -12.82) 5= 10.52 4
W J@v I%z, ZMOL &0 rm. .

2304/l

800 mn 800 me _ 800 B
V= ' = TJosz S /0-6‘-2){2'67;

_273.7¢ &=




Homework Solutions to HW Set# 2 , due ©8 / 21 /2003

Page_ & ot 9 [By 788 |
On03/02/20

avVv

aV=a-£ &>t R
i-‘ lv (JL &;W/mmtoé

Nk

- Mt ad ___I__ ety
a = (.60 = = 0.60 1609 <2
= Vp-V.= S _ S o
AVEVE-VI= S 55 = 3 o
s mas -
Lo AL o B[00 | 3325,
o 0.6/1608 ==
sé
AV':a/'é X = iﬂzfz

’)4: 2‘,‘-0 m V= 120 /—b—ﬁz :33—3‘- ’:—; @ : fo AL 04}”%0“06

2 2
| 2 L (aff) 1 (av)
zet = 2 ~ 2 (a,
#——> a";M
2 x
(334 =)°

< o
2*24‘00\4, :2.3’5 sz

O t———
————




Homework Solutions to HW Set # A, due O3/ 21 /2003

page Z_of . By [.B.B.
*° ° On 093/.02 /2003

_13_%_: ¢ T-lw wlw,& 1lrmv i'lo.o 1{0 loam Hu/ WSSc»q,
= x= bOOMm =04 2m
Im,iiia,é /3,,01106 v, = 82.4 A (b /zl
Sfm[ a{h,\, parrimg Fhe ovossimg V= Il.({'/éw/k

AV=2"V]

=66 A /h




Homework Solutions to HW Set # 2 , due ©3 /2t [2003

Page of 94 By [.R.3.
On 0§/ 02 /2oex
V:-\L = V°°

(e v%a'l), a&/woc ws positive Jor
. IM, }‘lu, A,Lﬂl}yvvvt}vﬂ /\l/le/D/'M ondl mw,eéag have 1«4 Sam V&éu,{y
o T hine rmmeéag s wecthohd Hoough Ha JOVCL o‘/ 7,@,,,-17 wh b il -

Copfw /éCLPS Vo.

&) V=V, +a-t

MAILBAG

o v
/ Vb: I.g-;—

; a..——ﬂ: 3.80%1_ é:go

V= IS %t §80 2% 025=211%

b) )<=5wa

-

a=9.80 % 4= 23,

/ 4

l m
x= 7 38 I ¢s*

gL = ’gérrw
M“«*&Qﬂ AS

( AO'I‘L , the M'cop b il Fho mwléqa
Qre movimg o wonwtntl)

C) Vo han mow ol end S a

\'{\

SIS

:> - o\,) \/:-—!.f,%w-('ﬂ.BOZ—w.

i / Py

) X =] 880y, I (oo, He ket
(Vo Changes To 4)) It Hhe mackbon wre

moving e wanol ),



09 /2t 2002

Homework Solutions to HW Set # 2 , due

& By .88
Page of 3 03;1 09/02 /2003
P58&:
x=2oolt ; a=-300Jt/s", Vo= e 4Fx3s A
!
\_ 2
)<F" é‘ Vo + é@(f-*&) A (f"é,—ec =-Vo
=t Vot & & (4-head
a
2
><=z§-v°+ '21 _._.___-(-V°)
a
& 1w Ly
X - 2 —a‘: = o
R
& 4. X-ET
Vo (“*?‘ &5)2' 2
-4 * St
200“‘ L - 93.00 \}/s? - 67455
.47 <35 Jt/s
e (£ Frge) == v
= VO - -
E - s -t
<=> - %-f" - Freee
pnd Vo
> 'a':‘f"é"’ frc%

Lyp<as A
= a;o et 6246 s = 1.0235 = fronc



